# VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

### Result Register (A.T.K.T. Exam.)

**EXAMINATION**: March - 2024

Repeater

**SEMESTER**: I

Sr. No.	Roll No.	Seat No.	Name	to Fin	luction ancial ounts		ness aw	Busi Stati	ness	Comn	iness nunicat n - I	_	dation rse - I	Foundation of Human Skills		Business Economics		Total Marks	Sum CG	Credits Earned	SGPA	Grade
110.				IA 10/25	SEE 30/75	10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	Marko				
1	52	FBMS19120	SHINDE VIVEK VINAYAK KAVITA	\$21	\$32	\$10	\$30	\$11	12	\$11	\$30	\$19	\$45	\$10	\$30	\$13	\$30	304	82	17		F
2	57	FBMS22018	/ DABHOLE SANSKRUTI DEEPAK POOJA	\$10	\$30	\$10	\$30	\$10	\$30	\$11	\$30	\$21	\$30	\$10	\$30	\$10	30	292	84	20	4.20	D
3	60	FBMS22043	KALTHE VARDHAN UPESH VIDYA	\$17	\$35	\$13	30	\$10	14	\$15	\$30	\$17	\$30	\$15	\$34	\$15	\$32	307	85	17		F
4	141	FBMS22053	KHAN FARID SHER SANA	\$10	30	\$10	\$38	\$10	\$30	\$14	\$30	\$19	\$32	\$15	\$40	\$12	\$33	323	99	20	4.95	D
5	107	FBMS22063	MANE SUJAL SANTOSH MANISHA	\$10	\$30	\$10	\$30	\$10	\$30	\$15	\$34	\$18	\$30	\$11	\$40	\$12	36	316	94	20	4.70	D
6	31	FBMS22075	NISAR BHAVIK DHANSUKH SHWETA	\$10	\$30	\$12	\$30	\$10	32	\$11	\$30	\$19	\$30	\$13	\$30	\$10	\$30	297	82	20	4.10	D
7	142	FBMS22092	/ RAJPUT KOMAL GULSHAN KUMAR SUNANDA	\$10		\$12		\$10		\$15	\$30			\$13		\$13						F
8	51	FBMS22121	/ SONKAR AASTHA GIRAJASHANKAR MEERA	\$10	30	\$11	15	\$10	7	\$19	\$31	\$19	\$31	\$18	\$38	\$10	\$32	281	75	14		F
9	1	FBMS23001	/ ANSARI AALIYA WAKIL SHAHEEN	\$19	\$30	\$23	37	\$18	\$30	\$16	30	\$21	30	\$22	30	\$19	\$40	365	120	20	6.00	В
10	81	FBMS23002	ARORA ADITYA VICKY KUMAR MINAKSHI	AB	AB	\$20	\$30	\$14	18	\$15	\$30	10	\$30	\$18	\$30	\$20	\$30	265	74	14		F
11	3	FBMS23008	/ BATLIWALA AYESHA KASIM FARZANA	\$24	\$32	\$20	\$30	\$18	\$30	\$16	\$33	\$21	\$30	\$23	30	\$20	\$33	360	117	20	5.85	С
12	83	FBMS23009	BERA ARINDAM ANUP APARNA	\$21	\$30	\$24	46	\$20	\$30	\$18	\$47	\$20	\$38	\$20	\$35	\$20	\$41	410	146	20	7.30	B+
13	163	FBMS23010	BHANAGE RAJ SANTOSH MANISHA	\$18	\$38	\$18	\$30	\$23	\$30	\$16	\$30	10	\$36	\$22	39	\$19	\$38	367	124	20	6.20	В
14	167	FBMS23022	DABADE SHLOK GOPAL SANJANA	\$22	30	\$20	\$30	\$22	19	\$14	30	\$22	\$30	\$21	30	\$21	\$31	342	96	17		F
15	8	FBMS23023	DALVI VIKRANT JAYANT USHA	10	30	\$13	35	\$15	12	\$16	\$32	\$19	\$30	\$23	\$30	\$16	\$34	315	88	17		F
16	214	FBMS23025	DANGALE VEDANT SANJAY MANISHA	AB	10	\$14	10	\$15	15	\$10	30	\$17	\$34	\$18	\$30	\$18	30	251	54	11		F
17	9	FBMS23028	DEVENTAR LOKESH VELU SOVUNDERMANI	\$18	\$30	\$15	\$30	\$18	\$43	\$11	\$30	\$20	\$33	\$20	30	\$22	\$37	357	117	20	5.85	С
18	169	FBMS23030	/ DHANGA SEEMI DEVENDRA SARIKA	\$18	\$34	\$13	15	\$20	\$30	\$13	19	\$21	\$31	\$19	30	\$20	\$31	314	81	14		F
19	212	FBMS23031	DHOTE SAHIL DNYANESHWAR NEHA	\$22	\$30	\$12	14	\$23	\$30	\$13	\$30	\$15	\$30	\$21	17	\$18	\$30	305	73	14		F

# VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

### Result Register (A.T.K.T. Exam.)

**EXAMINATION**: March - 2024

Repeater

**SEMESTER**: I

Sr. No.	Roll No.	Seat No.	Name	to Fin	luction ancial ounts		ness		ness	1 - 1	ness nunicat n - I		Course - I		Skills		iness omics - I	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				10/25	SEE 30/75	10/25	SEE 30/75	IA 10/25	SEE 30/75	10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	10/25	SEE 30/75					
20	90	FBMS23032	DHOTRE SAIRAJ ARJUN LAXMI	AB	16	\$16	16	AB	11	\$12	\$30	\$20	\$30	\$15	18	\$20	\$30	234	42	8		F
21	170	FBMS23033	DIWAKAR VISHAL SUNIL SONY	AB	\$30	\$18	\$45	\$20	30	\$14	\$44	\$20	\$45	\$20	\$35	\$18	\$40	379	121	17		F
22	11	FBMS23034	/ DUBARIYA PRACHITA RANCHHOD SHANTIBEN	\$22	\$30	\$16	\$32	\$23	30	\$13	\$36	\$23	\$34	\$24	35	\$23	\$36	377	122	20	6.10	В
23	92	FBMS23037	/ GAWAND VIDISHA ANIL SUJATA	10	\$34	\$17	\$32	\$20	\$39	\$16	\$44	\$22	\$31	\$22	\$31	\$20	\$45	383	126	20	6.30	В
24	172	FBMS23038	/ GHANEKAR PAYAL VIJAY NEHA	10	\$35	\$24	\$30	\$20	\$36	\$15	\$38	\$21	\$31	\$21	\$31	\$18	\$40	370	123	20	6.15	В
25	173	FBMS23041	GOWDA AKASH RAMAKRISHNA JYOTHI	\$14	39	\$16	\$30	\$18	\$37	\$16	\$31	\$20	\$30	\$21	\$30	\$19	32	353	117	20	5.85	С
26	95	FBMS23044	GUPTA SATYAM RAJKUMAR SEETA	\$20	\$30	\$16	37	\$18	\$45	\$11	\$32	\$21	\$40	\$25	\$31	\$20	\$40	386	133	20	6.65	В
27	174	FBMS23045	GUPTA SWAPNIL ASHOK BIMLA	\$22	\$32	\$22	49	\$20	\$36	\$13	\$30	\$22	\$34	\$22	44	\$22	\$44	412	140	20	7.00	B+
28	96	FBMS23047	HAIDER ADIL ALI MOHAMMED ASHRAF SHABNA	AB	AB	\$21	\$30	AB	AB	\$10	\$31	AB	\$34	\$25	AB	\$21	\$30	202	48	9		F
29	175	FBMS23048	/ HEGDE HITANSHI ADARSH ANJALI	\$18	\$30	\$16	\$38	\$20	\$44	\$15	\$30	\$22	\$40	\$21	30	\$15	\$41	380	127	20	6.35	В
30	15	FBMS23049	HUDDA ELIYAAN FEROZ SEMINA	\$22	33	\$24	13	\$20	\$30	\$10	\$30	\$20	\$30	\$24	19	\$16	\$30	321	78	14		F
31	97	FBMS23050	/ ILKAR SHREEVANI SHRIPAT SEEMA	10	36	AB	\$30	10	\$30	\$12	\$35	\$19	\$30	\$23	\$30	10	\$30	305	82	17		F
32	98	FBMS23053	JADHAV SOHAM SANDEEP SANGEETA	AB	AB	AB	AB	AB	AB	\$10	AB	AB	AB	\$22	AB	\$20	AB	52	0			F
33	177	FBMS23054	JAIN HIMANSHU NIRMAL VEENA	\$17	\$30	\$24	\$34	\$18	30	\$10	\$30	\$20	\$30	\$24	30	\$19	\$30	346	108	20	5.40	С
34	217	FBMS23057	JAISWAL PIYUSH GANESH RITA	10	\$30	10	\$43	10	10	10	\$42	10	\$50	10	\$30	10	\$AB	275	76	14		F
35	178	FBMS23058	JAISWAR RAVIKUMAR RAMJANAK BINDU DEVI	10	35	\$18	\$30	\$15	30	\$10	\$30	\$22	\$31	\$18	30	\$20	35	334	105	20	5.25	С
36	179	FBMS23061	/ KALE KIRTI SHANTARAM KAVITA	\$16	\$30	\$24	\$30	\$18	19	\$13	\$30	\$22	\$49	\$22	\$30	\$21	\$35	359	102	17		F
37	180	FBMS23065	KATE SOHAM SANDESH SHRADHA	\$23	\$32	\$18	\$38	\$23	\$44	\$16	30	\$22	\$34	\$23	31	\$22	\$37	393	134	20	6.70	В
38	181	FBMS23068	KHAN FAYAZ AHMED RIYAZ AHMED RAZIA	\$21	33	\$16	\$35	\$23	\$30	\$14	\$30	10	\$35	\$22	30	\$23	\$33	355	115	20	5.75	С

# VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

### Result Register (A.T.K.T. Exam.)

**EXAMINATION**: March - 2024

Repeater

**SEMESTER**: I

Sr. No.	Roll No.	Seat No.	Name		luction ancial ounts		ness aw	Busi Stati	ness stics	Comn	ness nunicat n - I	Foun Cour	dation se - I	Foundation of Human Skills		Busi Econd	iness omics - I	Total Marks	Sum CG	Credits Earned	SGPA	Grade
110.				IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	Walto				
39	216	FBMS23069	KHAN MEHTAB JAVED ALAM KAISAR JAHA	\$17	30	\$20	\$39	\$18	\$30	\$10	\$30	\$16	\$32	\$20	32	\$20	\$46	360	115	20	5.75	С
40	213	FBMS23071	KHAN MOHD HAMMAD MOHD REHAN ASMA	AB	30	AB	13	AB	30	AB	30	AB	30	AB	30	AB	7	170	0			F
41	105	FBMS23074	KOLEKAR RAHUL TUKARAM SONALI	\$24	30	\$19	\$31	\$22	\$30	\$14	\$30	\$20	\$30	\$22	30	\$22	\$33	357	117	20	5.85	С
42	106	FBMS23078	LORE MOHAMMED ZAIN IMRAN SHAWANA	AB	37	AB	30	AB	\$30	AB	30	AB	30	AB	30	\$15	37	239	18	3		F
43	185	FBMS23079	MAHATO SHIV RAJNANDAN POONAM	\$23	36	\$23	17	\$20	30	\$11	31	\$20	30	\$20	30	\$20	46	357	105	17		F
44	107	FBMS23081	/ MALI ANISHA BHIMRAO POOJA	10	\$30	\$18	\$30	\$19	\$30	\$12	\$39	\$22	13	\$24	20	\$21	\$50	338	87	15		F
45	27	FBMS23086	MAURYA RISHIKESH JAYPRAKASH ANITA	\$22	\$30	\$20	\$30	\$20	11	\$19	\$30	\$22	\$30	\$23	30	\$23	\$30	340	99	17		F
46	187	FBMS23087	/ MORE SHRADDHA SANJAY VANDANA	\$22	30	\$13	10	\$22	19	\$10	14	\$22	16	\$20	15	\$22	\$30	265	36	6		F
47	28	FBMS23088	MUGESH VISHNU GANESAN INDIRA	\$25	\$34	\$14	\$30	\$18	\$39	\$12	\$38	\$21	\$37	\$24	30	\$21	\$45	388	128	20	6.40	В
48	109	FBMS23091	MULLA AFSHAN KHATTAL FARZANA	\$24	\$49	\$20	\$30	\$20	\$36	\$16	\$37	10	\$30	\$25	33	\$22	\$37	389	134	20	6.70	В
49	30	FBMS23093	NAIK PARTH DEEPAK MANISHA	10	\$35	\$24	\$30	\$17	\$45	\$13	\$49	\$22	\$41	\$24	\$30	\$21	\$38	399	136	20	6.80	В
50	110	FBMS23094	NAIK SAHIL DATTATRAY DEEPIKA	10	17	10	12	\$16	\$30	\$12	\$30	10	\$30	\$15	30	\$22	\$30	274	68	14		F
51	218	FBMS23098	NEGI PANKAJ GULABSINGH CHANDRADEVI	10	30	\$20	30	\$21	30	\$17	\$30	\$15	35	\$18	32	\$21	\$30	339	111	20	5.55	С
52	112	FBMS23099	/ NOR SHRUTI HARJEE HEERI	10	\$47	\$20	\$31	\$21	\$30	\$19	\$33	\$22	\$36	\$24	30	\$20	\$61	404	137	20	6.85	В
53	215	FBMS23100	PADHY AMAN MANOJ KUMAR RANJEETA	10	\$30	\$17	14	\$15	15	\$15	\$30	10	\$34	\$18	\$31	\$20	\$33	292	68	14		F
54	191	FBMS23104	PARMAR HARSH HITENDRA DIMPLE	\$23	\$30	\$23	\$39	\$22	\$30	\$16	\$31	\$22	\$37	\$24	30	\$21	\$47	395	131	20	6.55	В
55	32	FBMS23105	PARMAR PRATHAM DINESH RANJANBEN	\$19	\$31	\$13	10	\$18	\$30	\$11	\$30	\$20	\$30	\$23	30	\$20	\$35	320	96	17		F
56	33	FBMS23108	PASWAN VIKAS SAKINDER YASHODHA	10	33	10	30	10	30	\$12	\$30	10	\$30	10	\$30	10	\$40	295	86	20	4.30	D
57	193	FBMS23110	/ PATEL NIRALI HARJI KESARBEN	\$18	\$38	\$16	\$30	\$19	\$32	\$11	\$30	\$19	\$35	\$23	30	\$20	\$36	357	117	20	5.85	С

# VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

### Result Register (A.T.K.T. Exam.)

**EXAMINATION**: March - 2024

Repeater

**SEMESTER**: I

**PROGRAMME**: Bachelor of Management Studies (B.M.S.)

Printed on date - 15/05/2024

Tree of a minute 1 bacheror of Management Studies (B.M.S.)										EXAMINATION INTEGRAL SECTION IN												<del></del>
Sr.	Roll No.	Seat No.	Name	to Fin	luction ancial ounts		iness aw		iness	Comn	iness nunicat n - I	Foun Cour	dation rse - I	Foundation of Human Skills		Busi Econo	iness omics - I	Total	Sum	Credits Earned	SGPA	Grade
No.				IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	Marks	CG	Eamed		
58	36	FBMS23117	PISAL RAHUL BALU SUREKHA	\$18	\$30	\$13	34	\$20	\$30	\$10	\$35	\$18	\$31	\$24	\$30	\$20	\$41	354	115	20	5.75	С
59	119	FBMS23121	/ QURESHI ALEESHA SAMEER RUBINA	10	\$44	\$20	\$30	\$19	15	\$12	\$32	\$21	\$31	\$21	\$37	\$20	\$30	342	99	17		F
60	39	FBMS23128	SAWANT SAHIL RAVINDRA SAKSHI	\$18	\$30	\$13	\$30	\$21	30	\$10	\$34	\$22	\$30	\$22	\$32	\$23	\$35	350	108	20	5.40	С
61	200	FBMS23130	/ SHAH HILARY DILIP SANTOSHI	10	\$47	\$22	\$44	\$17	\$32	\$14	\$55	\$20	\$32	\$25	\$38	\$20	\$30	406	138	20	6.90	В
62	123	FBMS23132	/ SHAIKH AYESHA SAJID YASMEEN	10	\$38	\$19	37	\$18	\$30	\$17	\$39	\$19	\$33	\$25	\$30	\$20	\$40	375	129	20	6.45	В
63	201	FBMS23133	/ SHAIKH HUMERA MOHAMMED ANIS RESHMA	\$20	47	\$24	\$45	\$18	30	\$16	\$39	\$21	\$43	\$13	\$30	\$20	\$37	403	133	20	6.65	В
64	125	FBMS23138	/ SHAIKH SHIRIN ABDUL GANI NASREEN	10	\$47	\$24	30	\$19	30	\$16	30	\$22	\$30	\$21	\$30	\$20	\$38	367	120	20	6.00	В
65	203	FBMS23139	/ SHAIKH TABASSUM ISAMUDDIN BIBI BEGUM	\$14	\$30	\$20	\$34	\$18	30	\$12	\$48	\$22	\$33	\$13	\$31	\$17	\$37	359	113	20	5.65	С
66	126	FBMS23143	/ SHELKE UJWALA SITARAM SARITA	\$22	\$30	\$22	\$33	\$18	\$30	\$14	\$35	\$20	\$30	\$19	30	\$22	\$43	368	120	20	6.00	В
67	205	FBMS23144	SHENDGE PRATHAMESH SHASHIKANT MANISHA	\$18	16	\$24	15	\$18	\$30	\$10	\$30	\$18	\$30	\$21	30	\$20	\$40	320	79	14		F
68	45	FBMS23145	/ SHETAYE AISHWARYA SANDEEP POONAM	\$23	44	\$22	\$30	\$23	54	\$14	\$30	\$21	\$37	\$25	\$31	\$20	\$47	421	140	20	7.00	B+
69	206	FBMS23147	/ SHINDE PRACHI SUNIL USHA	\$23	47	\$23	\$30	\$24	\$45	\$16	\$36	\$22	\$38	\$22	\$41	\$22	\$48	437	154	20	7.70	B+
70	208	FBMS23148	/ SHINDE SIDDHI RAJU VANDANA	\$22	\$30	\$13	11	\$23	\$30	\$15	\$30	\$21	\$30	\$21	38	\$18	\$30	332	99	17		F
71	207	FBMS23151	/ SHIRKE DEVSHREE SANTOSH SUNITA	\$19	\$30	\$23	\$30	\$24	30	\$14	\$45	\$21	\$30	\$21	33	\$22	\$37	379	123	20	6.15	В
72	47	FBMS23152	SHIVEKAR ARYAN SUNIL MANISHA	\$15	53	\$23	\$36	\$15	\$30	\$11	\$37	\$18	\$33	\$24	\$30	\$20	\$33	378	123	20	6.15	В
73	129	FBMS23153	/ SHIVEKAR BHAGYASHREE TUKARAM PARMILA	\$20	47	\$20	\$41	\$24	\$30	\$16	\$47	\$20	\$36	\$18	\$30	\$21	\$41	411	143	20	7.15	B+
74	130	FBMS23154	/ SINGH ALISHA RAKESH ARCHANA	\$18	\$34	10	\$35	\$18	\$37	\$13	\$34	\$20	\$40	\$19	\$31	\$21	\$35	365	124	20	6.20	В
75	132	FBMS23157	SOLANKI DHRUV DHARMESH SMITA	\$19	\$30	\$18	30	\$19	\$30	\$15	30	\$22	\$44	\$18	\$30	\$22	\$37	364	112	20	5.60	С

# VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

### Result Register (A.T.K.T. Exam.)

**EXAMINATION**: March - 2024

Repeater

**SEMESTER**: I

			o. Name to A	Introd	luction	Busi	ness	Busi	iness	Busi	iness	Foundation		Found	dation	Busi	ness					П
Sr. No.	Roll No.	Seat No.		Ι.	ancial ounts	Li	aw	Stati	istics	l .	nunicat n - I	Cour	se - I	of Human Skills		Economics -		Total Marks	Sum	Credits Earned	SGPA	Grade
110.				IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75		SEE 30/75		SEE 30/75	Wants	00			
76	134	FBMS23160	/ SOLANKI VARSHA RAMESHKUMAR MAMTA	10	\$30	\$17	\$39	10	34	\$13	\$38	\$22	\$40	\$22	\$35	\$20	\$33	363	118	20	5.90	С
77	135	FBMS23162	/ SURVE SAKSHI KAILASH KAVITA	\$20	AB	\$17	AB	\$20	\$30	\$11	\$30	\$17	\$30	\$19	AB	\$21	\$40	255	64	11		F
78	51	FBMS23164	/ SUTHAR KIRAN KANARAM MANJUDEVI	\$24	\$32	\$23	14	\$21	\$35	\$10	\$30	\$22	\$41	\$25	\$30	\$22	\$46	375	115	17		F
79	52	FBMS23165	/ TAPASE SAMRUDDHI MAHADEO SMITA	\$17	\$30	\$13	32	\$20	\$30	\$13	\$30	\$20	\$32	\$23	30	\$20	\$30	340	108	20	5.40	С
80	137	FBMS23166	THAKUR BHUSHAN SHANKAR SAKSHI	\$20	16	AB	10	\$20	12	\$15	\$30	AB	\$30	\$18	30	AB	30	231	30	6		F
81	219	FBMS23168	UPADHAY JITENDRA CHANDRABHAN HIMANAAL	10	\$30	10	\$30	\$18	17	\$15	\$30	\$20	\$30	\$14	30	\$18	\$35	307	81	17		F
82	138	FBMS23170	VESAVKAR PRANAY ARVIND KOMAL	\$16	\$30	10	8	\$18	33	\$10	\$30	10	\$40	\$16	\$30	\$20	\$49	320	96	17		F
83	139	FBMS23173	/ YADAV DIXITA SATENDER SUNITA	\$23	\$30	\$18	\$44	\$23	30	\$18	\$45	\$20	\$52	\$25	\$31	\$21	\$51	431	150	20	7.50	B+
84	57	FBMS23174	YADAV HARSH SANTOSH SAKSHI	\$23	\$30	\$15	40	\$24	37	\$13	\$30	\$22	\$41	\$21	\$30	\$22	\$43	391	133	20	6.65	В
85	140	FBMS23176	YADAV SAGAR ANIL SUSHILA	\$24	39	\$18	31	\$20	44	\$12	\$30	\$21	\$30	\$19	\$30	\$21	\$32	371	120	20	6.00	В
86	59	FBMS23177	/ YADAV SHRUTI BIMLESH SANGEETA	\$21	\$30	\$15	30	\$22	35	\$14	\$30	\$22	\$38	\$22	\$31	\$21	\$49	380	127	20	6.35	В
87	210	FBMS23178	ZORE JAY ANANT SUNITA	AB	6	\$12	13	\$17	17	\$12	30	\$18	\$31	\$22	18	\$15	30	241	37	8		F
88	60	FBMS23179	/ ZORE NITISHA SANJAY VIDYA	\$24	\$30	\$24	36	\$19	45	\$17	\$32	\$21	\$45	\$24	\$30	\$22	\$33	402	136	20	6.80	В